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Data Sufficiency ~ &gpo3 dorvjae

Note: In questions numbered 1 to 20. a question is followed by data in the form of two
statements labelled as I and II. You have to decide whether the data given in the statement is
sufficient to answer the questions. Using the data make an appropriate choice from (1) to (4) as
per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question,

b) Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

¢} Mark choice (3) if the statements I and II together are sufficient to answer the
question but neither statement alone i sufficient.

d) Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data is required.

Rrad 1 1 dod 20 S0 9D PO @éleﬁ‘m w8 3y, 00500 |, Il 2 thdhen o Goc pddaren
dipodorr @] LCPaD. WD GFPodo EDAITAD), NG YIS D) 9 VAPET) ByohD
au“lgg"m wNTalr dor el Db Dg‘@oa‘*t’i). & bg‘dtasb 300 Ardatys drgren evaraod (1)

0d (4) Hd% 16 eand 2o & Jond dabod.

a) P¥) D dArErdo adyodoH Podide | Ardd Ho DS D eI (1) M hiodod.

b) 23y dArErdo R omD pIddo |l Ardin 20 2 2w (2) m hiodod.

€) 289 ddrordo adyedD gddaren |, I 59 dorfaong weme” I af) 8 dree Hovfo
4T3 2 aaw (3) o mbodod.

d) 93D dargrdo faéaodjsb aadae |, 1 990 drom Vo0 5°8 BAIY) GTodo BSV0o

e0nad 2 Baaen (4) m hfocdod.

Sub questions

Question Number : 1 Question Id : 5494703589 Display Question Number : Yes Is Question
Mandatory : No



Is - positive integer ?

T 33 rgrodar?

L. n is a non negative integer
M COEEeNs 2Fgroto

I1. 1 1s a positive real number

G PR FD0at
o

Options :

’I.%1

| B

[#%]

3. %

4.+

Question Number : 2 Question Id : 5494703590 Display Question Number : Yes Is Question
Mandatory : No

@, band ¢ are negative integers and » 1s an integer. Isn > 07

a.b,ceodom FTrosTen anBoin n Wcém. n > 0 wdHdor ?

L. n=2a-b
IL. na=c
Options :
1. % !

| ]

2. ¢



Question Number : 3 Question Id : 5494703591 Display Question Number : Yes Is Question

Mandatory : No

, : | 9 i) ;
P’ and ‘q’ are integers. Is 4/ p~ + ¢~ an integer ?

[ 2 3
TR AR NPT SgenaE |
- p” +¢*is a positive integer
2 o]
P +q° 9 3prgroto
Options :

1
1.4

I

Question Number : 4 Question Id : 5494703592 Display Question Number : Yes Is Question
Mandatory : No



What is the value of a ?

a D3£D§P; D3 doeh ?

L {52 —b2 =372

I1. a—b=2
Options :

’I.%1

Question Number : 5 Question Id : 5494703593 Display Question Number : Yes Is Question

Mandatory : No

What is the value of =’ in the sequence 1.x,v,z, 9?7
eadugeao 1. x, ¥, 2, 9¢° 2'Densd Joed ?
E Second term in the sequence is 3
98082000 57D Bocad Doaw 3
11 The third term in the sequence is twice the first.

endugaran e5°D) S0P DEHL DG NEaw d30gy, aego:;;ﬁ_j

Options :

1.331



| ]

Question Number : 6 Question Id : 5494703594 Display Question Number : Yes Is Question
Mandatory : No

If ¢ 1s the average of 1 . 2 . x and 3. what is the value of a ?

1.2.x, 3 00 9008, g Devsad Jdodh 7

L 1
x=—
j

IL 4g=x+6

(6a—x)

Options:

1

| ]

Question Number : 7 Question Id : 5494703595 Display Question Number : Yes Is Question

Mandatory : No



How many brothers does Lalitha have ?
0D £ Josd Dod TowenTy o ?
| Gopal has two sisters and no brothers.
e & ag TFobdavmenm) d aboin Taden do.
IL. Geetha. one of Gopal’s sisters. has only one sister Lalitha

fared FPobavewwed’ 2,605 Ao eba I3 Tad

Options :

1.*1

| ]

3.¥

4. %

Question Number : 8 Question Id : 5494703596 Display Question Number : Yes Is Question
Mandatory : No

What percent of 24 is a ?

24 5° g ey Joed ?

i @ 1S siX percent of 18
18 &5° 6 =re¥0 0
IL. 200 percent of a is greater than 4

a dlng), 200 TS0 4 Zotd QLE‘.}E;.J.‘_J

Options :

1
1.4



Question Number : 9 Question Id : 5494703597 Display Question Number : Yes Is Question

Mandatory : No

What is the area of the rectangular land ?

&53 AT Moy j=tioctb) R bIEN 2Tef0 Joed ?

1. The length of the land is more than the breadth by 120 metres
es I e ood Dy Sotd 120 et DS,

1L The perimeter of the land is 1760 metres

e girdn dogw Foe 1760 Doégo

Options :
1. % t
.
2. % =
3.v .
4

4. %



Question Number : 10 Question Id : 5494703598 Display Question Number : Yes Is Question
Mandatory : No

Will day after tomorrow be Monday?
Jewod Faoargaor ?
E Yesterday was not Thursday
ijé;; DELTPG000 BP0
IL. Day before yesterday was Friday.

Y by Y Fogarrdaan

Options :

1
1. ®

4. %

Question Number : 11 Question Id : 5494703599 Display Question Number : Yes Is Question
Mandatory : No

What is the interest earned in 5 years?
5 DodeyTroes Dodrdodd 96 Jodd ?
I. Principal is Rs. 700
exoe dom. 700
IL. Rate of interest is 8% per annum

26 Bt DodaTAS 8%



Options :

1. % !
2
2. %
3. % 3
4. e

Question Number : 12 Question Id : 5494703600 Display Question Number : Yes Is Question
Mandatory : No

Who is the tallest among A . B.C.D?
A _B . C.D & &° 256 220658808 SFEDd o6y ?
12 “C” 1s shorter than ‘B’
B €083 C FQarctd
II. ‘B’ 1s taller than ‘A’, but shorter than ‘D’

B es3 553 A 208l (Fea) 20 D S0l T

Options:

1.331



Question Number : 13 Question Id : 5494703601 Display Question Number : Yes Is Question
Mandatory : No

Is ‘P* an aunt of ‘Q’

Q 2o P esed 72 5D T¢ DG BT ?

I. ‘P’ is the father of ‘R’
R P aod
I1. ‘Q’" 1s a niece of ‘P’

P £ Q 208 cen For PGS Sraady

Options :

1
1.4

Question Number : 14 Question Id : 5494703602 Display Question Number : Yes Is Question
Mandatory : No



In the two triangles. what is the valueof P+ Q+ R+ S 7?

Gociy fizherees® P+ Q + R + S Dewsd Joas ?

I A+B=90°

II. P+Q=R+S

Options :

1.¢ 1

I

Question Number : 15 Question Id : 5494703603 Display Question Number : Yes Is Question
Mandatory : No

What is the largest power of 12 that divides the positive integer n ?
(AT :gj“g“cgo 7 S0 erfod 12 G308), ﬁﬁ‘t{& SIS0 Joed P
L. The largest power of 2 that divides n is 21
n &0 zrfodd 2 ding). (193 aordo 21
IL. The largest power of 3 that divides 7 1s 19

n o 2rfow 3 Coawg); (183 2wreso 19

Options :



Question Number : 16 Question Id : 5494703604 Display Question Number : Yes Is Question
Mandatory : No

Is the matric ‘A’ a singular matrix ?

Ardd A vdroron ardse ?

12 At least 12 entries of the matrix A are zeroes
2GS A 6 €DD0 12 DPUSPLD TR 0

I1. Alsad x4 matrix

A g 4 x 4 H788

Options:

1.% 1

| ]

3. %

4.¢



Question Number : 17 Question Id : 5494703605 Display Question Number : Yes Is Question
Mandatory : No
How many men are required to complete a piece of work in 27 days ?
28 DA 27 Bereds” Hyd Soerdd Jod dvod ndiipen seaed ?
I. 9 men and 6 women can complete that work in 15 days
es DD 15 Ferers® 9 200d sndapen, 6 dood ?gw 2B Dot
I 12 men can complete that work in 18 days

22 DA 18 Ferered® 12 2008 nchipen D7 Sabied

Options:

’I.%l

Question Number : 18 Question Id : 5494703606 Display Question Number : Yes Is Question
Mandatory : No

What is the area of the square ?

WE0H) PTURves 7

I The area of the circum circle of the square is 321 cm?
2

23 G800 DBDY PEreraw 32T em

I The ratio of the length of the side of the square to its diagonal is 1: V2

es IO dhog), Py Aobain Degame Ayg 1:4/2

Options :



1.¢

| )

2. %
3

3. %

4% *

Question Number : 19 Question Id : 5494703607 Display Question Number : Yes Is Question
Mandatory : No
What is the area of the triangle ABC ?
Gabaan ABC dwng), peeidoos ?
I. Two of its sides are 6 and 8§
@) DSJJQ;-J Doc ghaasduoeny 6 suboiy 8
II. One of its angles is 90°

D) g, w8 Eedus 90°

Options :
1

| ]

L]



Question Number : 20 Question Id : 5494703608 Display Question Number : Yes Is Question
Mandatory : No
How many grandchildren does ‘A’ have ?
A £ Jogh 2006 DR, JAEITP0E) f'—:.,mi@ ?
I. ‘A’ has one son ‘B’ and one daughter ‘C’
A a8 Dardd B dobain g ©arg C &) 0
1I. A’s son has 2 daughters and A’s daughter has 1 daughter
A diwg), DAPGAS AG0M Dardw Dbainy A dng) AT wE LArg

& @

(=

Options :

’I.*;gl

Question Id : 5494703609 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (21 to 30)



Problem solving RDPED
Sequences and Series BRFAT, FeD

Note : In each of the following questions, a sequence of numbers or letters that follow a definite
pattern is given. Each question has a blank space. This has to be filled by the correct
answer from the four given options to complete the sequence without breaking the
pattern.

arod: Jod @dyd PO Pi) O adyd dopgew ™) viTw 5 of dogod Jabardy
Ty an. 96 93y 6 70 adyd Teab Ddyo Dod H0 vand 2T div) H

g Hobara3 dorde Seordhor Hydeird.

Sub questions

Question Number : 21 Question Id : 5494703610 Display Question Number : Yes Is Question
Mandatory : No

ZA : MN :: GE :

Options :

DG
1. %

TR
2. ¥

Question Number : 22 Question Id : 5494703611 Display Question Number : Yes Is Question
Mandatory : No



SCHMR L ZEI0) - PUZE
Options :

MSWB

1. %

MEYB

2. %

MRWA

4 MRWB

Question Number : 23 Question Id : 5494703612 Display Question Number : Yes Is Question
Mandatory : No

Dda : aDD :: Rrb :

Options :

DDA

1. %

bRR

BBr

Question Number : 24 Question Id : 5494703613 Display Question Number : Yes Is Question
Mandatory : No



Question Number : 25 Question Id : 5494703614 Display Question Number : Yes Is Question
Mandatory : No

—

U177 A3 B2

Options :

Question Number : 26 Question Id : 5494703615 Display Question Number : Yes Is Question
Mandatory : No

SUWY | LPTX .. PRTV :



Options :

v IMQU

IMRU

INPU

ILRS

Question Number : 27 Question Id : 5494703616 Display Question Number : Yes Is Question
Mandatory : No

0.01 : 100 :: 0.003 :

Options :

Question Number : 28 Question Id : 5494703617 Display Question Number : Yes Is Question
Mandatory : No

SUF:R8RI1::110L. ¢

Options :



T4MN

14NM

141L.O

14KP

Question Number : 29 Question Id : 5494703618 Display Question Number : Yes Is Question
Mandatory : No

ADBC : WZXY :: EHFG :
Options:

1 ¢ SVIU

STUV

STVU

Question Number : 30 Question Id : 5494703619 Display Question Number : Yes Is Question
Mandatory : No

1648 : 1339 :: 2266 :
Options :

1134

1. #



2. %

1442
3. %

1559
4. %

Question Number : 31 Question Id : 5494703620 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series R EATTe0, Frwew

Pick the odd thing out in the following.

Sots @nyd 786" HDOT'0IS MDdocdod.

Options :

Question Number : 32 Question Id : 5494703621 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series eRgAT0, Fraven

Pick the odd thing out in the following.

S0 @D T8¢ DBT0IS hood.
Options :

1 % INDIA

> % PAKISTAN

BANGLADESH
3. %

4 v NEPAL

Question Number : 33 Question Id : 5494703622 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series e doren, Froen
Pick the odd thing out in the following.
S0 @D T8¢ BTWIB hFocdodt.

Options :

1 % Vapour

Rain
2.
Cloud



Question Number : 34 Question Id : 5494703623 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eiugsren, Srved

Pick the odd thing out n the following.

S0 @y T836° HOT0IB otod.

Options :

Question Number : 35 Question Id : 5494703624 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series RGBT, Fraen

Pick the odd thing out in the following.

Socs @y J¢3eS” DT 0IA bfodod.

Options :

July

w:

PO o



January

> % HEeganl
March

3 % 9
October

4 ws'eob

Question Number : 36 Question Id : 5494703625 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series edngsmren, e

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd: Sodh adyd 2F) 28 PSS Dabard) FBiped. & Jabdrd) dddod
HBH HAToEHeS 200 HFdodiod .

1,6.10.13.

Options :

1%14

[y
L

2. &



Question Number : 37 Question Id : 5494703626 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series 9RZATL, Fre

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arod: S0t @y 2F) 28 PAYBDD Jabdrd) FBPes. @ Jahdrd) dddod
200D Dargrded ) Dydodiod .

12.30,56.132 .

Options :

162

192

Question Number : 38 Question Id : 5494703627 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series AT, Fre

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ard: S0 @V D) 28 PNSH Jabardy FEes. & Jabdrdy dddod)
20ahh Rdrgrded 2700 DPdodod .
V,85:0,1;

Options :

’I.%B

Question Number : 39 Question Id : 5494703628 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series eRFATeD, Frew

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arcid: Sodd @y PF) 28 PNSD Jabardy FEpes. & Jabdrdy dhded
200L DArErHed 1) Hrdeded .

350148y

Options :

179
1. %



2. %
17
3 v 221
245
4. %

Question Number : 40 Question Id : 5494703629 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series AT, Froe

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Aardd: Sod f&rfja.a DY) @ g}&aé@a‘) i)ojjmi}cl Fined. e Doﬁ;:mi]l o)

20 Darorded 29 Drdodod .

A.015.9.5.
Options :
1
1.+
)
2. %
3
3. %
4% 4

Question Number : 41 Question Id : 5494703630 Display Question Number : Yes Is Question



Mandatory : No

Sequences and Series BAFATD, Frew

Note; The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ard: o6 AN DF) 25 PG JaDIry FEed. & Johardy ddndod
2O Dargrhed a0l DFdodod .

13 26 6

.
5 7T 1

L=}
[

102

13

[—

Options :
142

—

1. % ‘

Question Number : 42 Question Id : 5494703631 Display Question Number : Yes Is Question
Mandatory : No



Sequences and Series wMgaren, Faen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd: So8 @YD DB w8 DSD Jabardy FEDes. ¢ JabArdy ddded
20 DATOrSed 9700 HFdodied .
CR.EV,6T;KP;

Options :

MN
1.4

Question Number : 43 Question Id : 5494703632 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series AT, Froe

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arod: Sod adyd 9F) 28 RS2 Jabardy Fed. & Jahardy ddoed

HB0hd DATEHed ) HFBotod .

6,24,60, 120,
Options :
150

1. %



180

2. %

.
3. ¢ 2y
4% 240

Question Number : 44 Question Id : 5494703633 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series w0gare, Fren

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Ardd: S0 @Ay 0F) 28 RS Jabdrdy FSined. & Jabdrdy ddoed)

PBohi Dargrded ar®  HFfodiod .

—

7 1
& =

| s
o |

Options :

13

2. ¢



[
h

12
—

Question Number : 45 Question Id : 5494703634 Display Question Number : Yes Is Question
Mandatory : No

Sequences and Series dgIren, Froen

Note: The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

Arcd: Jod AdyD F) 28 PNSD Jahardy FHaped. & Jahardy ddded
260D PNArorSed 200 DTdodiod .

CEH .EGJ.GIL . EMP,

Options :

MPQ

OPR

0QS

MOR

Question Id : 5494703635 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (46 to 48)



Data analysis grod Dgan

Note:
The following table shows production of Rice, in million tons, by six states A, B,C.D.Eand F
during the years 2016 to 2020. Study the table carefully and answer questions 46 to 50.

APGA |
udh o A B, C, D E F en 2016 doddydo dod 2020 Hoddhydan S0D &8y 30
Dofandd, VDD HAYod', & 508 Y5 draeddd) 0. & DS wdsw 206e900) 46 ol

50 504 o Py 0% 2TEdSC.

States—

mg"m

Years A B C D E F Total

K}o&')ejsdo

L

2016 240 165 148 138 139 122 952
2017 232 163 162 156 140 123 976
2018 250 155 172 149 136 127 989
2019 268 160 145 165 143 125 1006
2020 270 145 170 162 142 123 1012

Sub questions

Question Number : 46 Question Id : 5494703636 Display Question Number : Yes Is Question
Mandatory : No

In which years the state A has a share of 25% approximately in the total rice
production?

ango Hatbfo &G o o0 A ardim 25% eayd B3 DoddyTr

Options :

2020, 2017
1. %



2019, 2020

0. #
2017, 2019
3. %
2016. 2018
4.

Question Number : 47 Question Id : 5494703637 Display Question Number : Yes Is Question
Mandatory : No

The approximate percentage increase in rice production in the state D from 2016
to 2020 i3

2016 00c 2020 208 Dowjo &BYE &° 70 D FBodd HO T WAPOM

Options :

18.4%
1. %

Question Number : 48 Question Id : 5494703638 Display Question Number : Yes Is Question
Mandatory : No



The year that recorded highest percentage increase in the total production of Rice.
in all the states put together over the previous year. is
% “n)o:.:uséﬂjd:méé, ?ﬁﬁj;ﬁbwg@aﬁ* €0, dwgan Dabie &@J@Eﬁé £90E3EII006)

RoddGad TFONS, 18y 98 T Artonod ?

Options:

1 % 2018

2019

2020

2017

Question Id : 5494703639 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (49 to 53)



Data analysis 8803 D30

Note:
The following Pie-Chart represents the people of various age groups of a town, whose total

population is 45.000. Basing on this information answer the questions 51 to 55

.

aarca;
45,000 aar (o wg Do &' D0 adirnaraded’ do paed & S0d d-nto ArdTed. &

RATETGo BTG P3) e 51-55 vl darmTdad.

o

108,/ 7 20-30yrs

30-40yrs

Sub questions

Question Number : 49 Question Id : 5494703640 Display Question Number : Yes Is Question
Mandatory : No

The number of children whose age is less than 10 years is

10 Dossaore Sof B8 DoAY Mo Dye Doay

Options :
1 % 5625
5600



6200

6000

Question Number : 50 Question Id : 5494703641 Display Question Number : Yes Is Question
Mandatory : No

The ratio of people m the age group (30 — 40) to that of (20 — 30) is
(30 — 40) acirnsurirosd. (20 — 30) SArRaxraros) e DG

Options :
g:9

1. #®

5 % 87

3 % 9.7

4 g8

Question Number : 51 Question Id : 5494703642 Display Question Number : Yes Is Question
Mandatory : No

The number of people in the age group (20 — 40) iz

(20 — 40) Hoardaurroes™D Daer Doay

Options :

26,000



2. %
25,000
3. %
~ 26.500
4. %

Question Number : 52 Question Id : 5494703643 Display Question Number : Yes Is Question
Mandatory : No

The number of people whose age is above 40 years 1s

40 PoDs\Tre S0 S0 DOIRY (10 e Doady

Options :
1.« 9.000
_ B.500

2. %
9.125
8000

Question Number : 53 Question Id : 5494703644 Display Question Number : Yes Is Question
Mandatory : No



The percentage of the people of the age not exceeding 30 years in the total
population of the town is

2o D aTere’ 30 DoDTPLD Dowd HaHADY (R T To

Options :
20

1. %

5 % 30
50

3.

4, % %

Question Id : 5494703645 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (54 to 55)



Data analysis 8503 D3n
Note:
The following table shows production of Rice, in million tons, by six states A, B.C, D, Eand F

during the years 2016 to 2020. Study the table carefully and answer questions 46 to 50.

AP
u® o A B, C, D, E F e 2016 Doddybo dvod 2020 do3dydamn 0D &dyd S
Dobjnd, HBAHH L) oF, & S0 HRS SrHohiD) 6. & HBEH ST HIDoD 46 Mol

50 $6 do Py v 2T tdSE,

States—

U"g"w

Years A B C D E F Total

f\maé.)do

)

2016 240 165 148 138 139 122 952
2017 232 163 162 156 140 123 976
2018 250 155 172 149 136 127 989
2019 268 160 145 165 143 125 1006
2020 270 145 170 162 142 123 1012

Sub questions

Question Number : 54 Question Id : 5494703646 Display Question Number : Yes Is Question
Mandatory : No

The approximate percentage of decrease in Rice production in the state B from
2016 to 2020 1s

o0 B &° 2016 2vod 2020 56 Dodjo &yGe” 90D Fdo AT

Options :
1.



, % 13%
3 % 14%

. 10%
4, %

Question Number : 55 Question Id : 5494703647 Display Question Number : Yes Is Question
Mandatory : No

In the year 2018, the approximate percentage of Rice production in the state A out

of the total Rice production in that year is

2018 Dodety0o & 28AS Jndo Dokjo EBE’, TP A TP Tedo AT

Options:

Y 40/
1 % 24%

26.7%

Question Id : 5494703648 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (56 to 60)



Coding and decoding problems Edof, A5 Aoh D e

Note:
Each of the questions from 56 to 60 has different coding pattern. Identify the pattern and
answer questions 56 to 60.

APS:
56-60 6% v Ay o" ) 3y © S8 Ecol HEBRDOIAocrd. & DEAI Mhod) 56

Dot 60 H0 28 0D PAFTTONE.

Sub questions

Question Number : 56 Question Id : 5494703649 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language if. ‘ANSWER iscodedas ‘RC S WP A’ then the
code for ‘C O L O UR’, in that language 18

s DB ELarag ANSWER 2 RCSWPA v £6 32, af arded’
‘COLOUR & &&
Options :

RSEWMHC
1. %

RQPMHC
2. %

RQPHMC
3. %

RSKPQC
4.9

Question Number : 57 Question Id : 5494703650 Display Question Number : Yes Is Question



Mandatory : No

In a certain code language ‘DIR E C T’ is coded as “W R IV X G’. The code for
‘EX ERCISE in that code language is

28 DBy E& e DIRECT A *WRIVXG w € 35, 28 o
‘EXERCISE % &&
Options :

VIVCXRHV

VOECVIXEHY
2. ¢

VXVCIHRYWV
3. %

VVICXHRYWV

Question Number : 58 Question Id : 5494703651 Display Question Number : Yes Is Question
Mandatory : No

In a certain code language, if ‘ANIM AL’ iscoded as ‘OZNHM Z' and
‘INSECT iscodedas‘OHFRUB . then‘ELEPH A N T’ is coded i that

language as

28 ﬁg%f&ETQE.SG(QNIMAL:;G=DZNHMZ-WW~ INSECT &

‘OHFRUB rir 86 85, ed £€ opd® ELEPHANT & £E

Options :

DMDQGBMU
1. %



MDODBGVM

MDQDBGUM

_ MDODEGUN
4. %

Question Number : 59 Question Id : 5494703652 Display Question Number : Yes Is Question
Mandatory : No

In a certain code. MONKE Y iswritten as ‘X DJIMNL". Then‘TIGER 15

written in that code as
w$ DY EE & 'MONKEY & XDIMNL mod, &« 88 & TIGER' D

rohadd i E&

Options :

SHFDQ

UIHFES
2. %

SDFHS

QDFHS

Question Number : 60 Question Id : 5494703653 Display Question Number : Yes Is Question
Mandatory : No



In a certain code language. if ‘ ROUTINE’ is writtenas VMR GFLT. then

‘C RUEL T Y’ can be written in that language as
0 DB E€ o ROUTINE'® ‘VMRGFLI m §€ 83, 28 €€ ey’
‘CRUELTY’ 2 vrobedd oé 86

Options:

BGOVFIX
1.9

VOEVZEL

NPENVGERIL
3 %

VEVCZERL
4, ®

Question Id : 5494703654 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (61 to 65)



Coding and decoding problems 8cofi, &5¢of dibidjen

Note .
The letters of the English alphabet in the same order are arranged around a circle in clock-wise
direction. The letters are coded as follows,

(1) A vowelis coded as the second vowel from it taken in anti-clock wise direction.
(i) A consonant is coded as the fifth consonant from if taken in anti-clock wise direction.
(i)  Reverse process is used for decoding.

Answer questions 61 to 65 using this coding and decoding process,

AP
Fofap BE0Arod) BETod), 08 §M08 08 Sydo Dbir A3[OP & BT D, 8 VTV & 00

o 56 33,

() 28 odyd o) dood eddd) 8367 Botid ey & S3h
(i) 28 dre0 & o dood @DRS] B35 add irey m §E ST

(i) o D% 2D CEGoh D eddTAT .

& Eiof, A8oh v &DaIPnod 61 dood 65 56 o H¥) v 2TwdIE.

Sub questions

Question Number : 61 Question Id : 5494703655 Display Question Number : Yes Is Question
Mandatory : No

The code word for * K IN G’ is
*KING & 8E& Hoow
Options :
FAHZ

1. %

OAHZ

DAHZ
3.¢



DAIZ

Question Number : 62 Question Id : 5494703656 Display Question Number : Yes Is Question
Mandatory : No

The string of the letters that is codedas ‘LOVEL Y is
‘LOVELY’ rr £& Sabedd 0 62w

Options :

FEPUFS
1. %

FEPUSF
2. ®

RABORF
3. %

RAOBRF

Question Number : 63 Question Id : 5494703657 Display Question Number : Yes Is Question
Mandatory : No

The string of letters that is coded as ‘FAIL’ is
FAIL = E& Soberdd g6 DOS0

Options:
.
1 ¢ LIUR
YOIF



LIRU

¥OFI

Question Number : 64 Question Id : 5494703658 Display Question Number : Yes Is Question
Mandatory : No

AITL IS WELL is coded in this code language as
& BE ares® ALL IS WELL & 8&
Options :

JRR UY CORR

OFF AM QUFF
2. %

OFF MY RTSL
3. %

JRE. YU OCRR
4, =

Question Number : 65 Question Id : 5494703659 Display Question Number : Yes Is Question
Mandatory : No

‘N EIZB'’is the code of the word
‘NEIZB ™ E& Sohadsd Hoan

Options:



TOOEH

TOUGH
2. ¢

TONES

TOURS

Question Number : 66 Question Id : 5494703660 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 38, H:oabo, 0650 RV

If 29 January 2018 is Monday then 1%t July 2019 is
29 2550 2018 o Davardo o0nd, 1 22¢3 2019

Options:

Monday

]
HY e S il als]
1.¢

Tuesday

® a0 do

Wednesday

AulA e plals]

Thursday
e Go



Question Number : 67 Question Id : 5494703661 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 36, a:00b0, ©:0650 SRV OV

The time between 2.30 pm and 3.30 pm when the two hands of the clock coincide
is

g (aiross’ wgoen 2.30 pm £ 330 pm £ DcHE" eunhd ddnatbe

Options :

o}
2.HER: 5 e'l— min.

3
2 81— %
11
1. %
9
3 Hrs. 6— min.
11
9
360 6— 5
11
2. %
,_’]_
3 Hrs, 16— min.
11
4
o l6— D
11
3.¢

6
3 His. Ziﬁ 1mii.

6
3 G0 24— o
11

4. %



Question Number : 68 Question Id : 5494703662 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems &6, vdoabo, end%e R

When the time in a clock 13 11.53 am, the acute angle between the hours hand and
minutes hand in the clock 13

wé (doirdoss ddoabe 11.53 am ™ &3\, & Adoirced’d fobe Duoew,

DDN0L 3008 & S D{:ﬁﬁa‘: w0 Emo

Options :
(7
.
1.¢
(67)
L 2)
2. %
(57)
\ 2
3. %
(47)
II -~ !
4, %

Question Number : 69 Question Id : 5494703663 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems $8, Hsvabo, 050 DD

‘A’ 15 father of ‘B'. ‘B’ 15 a son of ‘C’ and ‘D" is mother of *C". Then ‘D’ is
related to “A” as

B dhwg), ¢od A, C aing), xrde B, € aiug), 98 D wond A 8D & Howodo

Options:

Grand-father

ed

1. %
Mother-in-law
godh

2.
Grand-mother
2923

3 %
Son-in-law
PORINELY

4, % 7

Question Number : 70 Question Id : 5494703664 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems 36, doabo, @065 SRVAIOY

‘A’ reaches office 38 minutes before ‘B' who come to the office 22 minutes later
than *C”. If ‘C’ come to the office 12 minutes before the right time 10.30 am. the

time of arrival of ‘A’ to the office is

C go#d 22 Dodanen SR B ?m‘gum.ﬁé 357, B 808 38 DinHsuoen Svotire
A ?Uﬂﬁﬁ)mﬂé f}meﬁ:’m;lm. f\')g@ menoiaw fo. 1030 2. 0 12 ddbdsawew

Soocurr C svmémo:mfaé. amgmoim, A s*fo'vamo:x}“faé DDy Ao

Options :

10.12 am

Go. 10.12 5.
1. ®

10.02 am

E\L

> fio. 10.02 2.

10.17 am

Ho. 10.17 2.
3. %

10.08 am

feo. 10.08 .
4, %

Question Number : 71 Question Id : 5494703665 Display Question Number : Yes Is Question
Mandatory : No



Date, Time and arrangement problems 36, dsoabo, #0650 SEVNICY

Two trains arrived at a station at 14.35 Hrs, and 15.28 Hrs. on the same day with a
late of 21 minutes and 12 minutes. respectively. Then the time difference between

their scheduled arrivals. in minutes. is

w8 Berd wd fgi‘ﬁ £y Tot B%y DGR 21 . doboiwn 12 A. P_fr?_:l?oéog 14.35, 15.28

fotieE BOEHT) 020, BYYE TE SALD HOIFO My BeaN Do’

Options :

Question Number : 72 Question Id : 5494703666 Display Question Number
Mandatory : No
Date, Time and arrangement problems 34, doobo, e9:0065e D e

Five persons P. Q. R. S. T sif around a table facing the centre. ‘S’ sits between ‘P’
and ‘T". “Q’ sifs to the left of ‘R’ and ‘T’ is neighbour of ‘R’. The person sitting

on the right side of ‘P’ i3

5 o B8 P,Q,R, 5 T e 2,8 bogth we b SordandaorT g;om&anim. 8
o 26) 8, R & deao 98, ™ Q, R odng), amm T oo T &rdn) .

)0 P & D3 €rind Dy o3

: Yes Is Question



Options :

1.4 s
R
2. %
S
3. %
4. % ¥

Question Number : 73 Question Id : 5494703667 Display Question Number : Yes Is Question
Mandatory : No

. Date, Time and arrangement problems $4, ddoabo, eshode QDY

If “ o * denotes addition *  © denotes multiplication * v * denotes subtraction and

“§ * denofes division, then 5 1803 a779=

"o ogwdandy, ' B ihnsoaud, 1 ppdedani, 5 armrtoanido ardioed,

waye 5p1803w779=

Options :

4.+



Question Number : 74 Question Id : 5494703668 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 348, Jaoabo, b5 mm;:;am
a®b=a"+F,a@b=a-F >283)0O5=
Options :

155

Question Number : 75 Question Id : 5494703669 Display Question Number : Yes Is Question
Mandatory : No

Date, Time and arrangement problems 346, d:0abo, 00650 VIRTLVEY

a *b=a+2b+a’+3b°+5 = (1% 2) #(3 #4) =

Options :
1 ¢ 16690
15432



14723

3. %
4 % 13360

Communication Ability
SectionId : 54947053
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 76 Question Id : 5494703670 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Predicament

Options :

v Plight

Plan



Pain

Question Number : 77 Question Id : 5494703671 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Fraction

Options:

Wholesoime
1. %

Framed
2. %

Celebration

Portion
v—f

Question Number : 78 Question Id : 5494703672 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Sumptuous
Options:

Thrifty

5 % Humble



Nutritious

Lavish
4, &

Question Number : 79 Question Id : 5494703673 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Eventually

Options :

Scarcely

Seldom
2. %

Never

Finally
4.

Question Number : 80 Question Id : 5494703674 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Camouflage

Options :

Conceal
1.



Caricature

2. %

3 % Conspicuous
Control

4, %

Question Number : 81 Question Id : 5494703675 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Quirk.

Options :

Talent

Idiosyncrasy
2.

Premonition

Aptitude
4, %

Question Number : 82 Question Id : 5494703676 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Abbreviate

Options :

1. %



Ridiculous

Articulate

3 ¢ Shorten

Mistake
4, %

Question Number : 83 Question Id : 5494703677 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Ingenious
Options :

1 ¢ Clever

5 % Frank

3 % Genius

Impetuous
4, %

Question Number : 84 Question Id : 5494703678 Display Question Number : Yes Is Question
Mandatory : No



Choose the correct meaning of the word given:

Condescend

Options :

Respect

Look down on

2.9

Postpone
3 %

Esteem
4,

Question Number : 85 Question Id : 5494703679 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Exhalation

Options :

Assiduousness

1. %

Breath

Contemplate

Demeanor



Question Number : 86 Question Id : 5494703680 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Nonchalance

Options :
Stubborn
Indifference
Undecided

3. %
Carefree

4, %

Question Number : 87 Question Id : 5494703681 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:
Opulence
Options :
Fragrance

1. %

Radiant

Wealth



Veneer

Question Number : 88 Question Id : 5494703682 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Extinct

Options:

1 % Present
Active

3 ¢ Vanished

4 % Bom

Question Number : 89 Question Id : 5494703683 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Fabricate
Options:

verify
1. %

Destroy
2. %

Design



Give up

Question Number : 90 Question Id : 5494703684 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct meaning of the word given:

Accolade

Options :

Blame

5> Praise

3 % Function

. Promenade

Question Number : 91 Question Id : 5494703685 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
An assemblage of mismatched parts in a software or hardware system

Options :

1 ¢ kluge

kinematics



kilobaud

key-in

Question Number : 92 Question Id : 5494703686 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Symbeols in programming the microprocessor

Options :

pseudo code
1.4

monadic operation

pulse code

privileged mode

Question Number : 93 Question Id : 5494703687 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
“To Leverage” means to

Options :

use something to a disadvantage



gain interest in starting something

v use something to an advantage
3. -

start a new venture

Question Number : 94 Question Id : 5494703688 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

GI‘EI}" drea means

Options :

an area that is not properly lit
1. %

a well-defined area with a clear cut boundary

something open and transparent

something undefined and not easily categorized
4.

Question Number : 95 Question Id : 5494703689 Display Question Number : Yes Is Question
Mandatory : No



Choose the appropriate answer:
‘Binary’ number system means

Options :

| % A number system having 16 as base

a number system having 10 as base
2. #

a number system having § as base
3. %

v a number system having 2 as base
4. ¥

Question Number : 96 Question Id : 5494703690 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

The foundation of data communication for the world wide web is

Options :
1 % RTF

FTP

5 » HTTP

UDP



Question Number : 97 Question Id : 5494703691 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

Data sink
Options:
receives data but does not respond
is a low capacity storage medinm
2. %
1s not a storage medimm
a high capacity storage medium
4, %

Question Number : 98 Question Id : 5494703692 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
A public place where one can access the Internet

Options:

1. = Cyberspot

WiFi hotspot

s INetspot

Wi-Fi public spot



Question Number : 99 Question Id : 5494703693 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer':
One of the four p’s in management is

Options :

pilfering

planning

powdering
3. %

pricing

Question Number : 100 Question Id : 5494703694 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Changing a non-revenue generating item into cash or money
Options :

Demonetization

Encashment

Monetization.
3.¢



Appropriation

Question Number : 101 Question Id : 5494703695 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
PERT stands for

Options :

Programme Evaluation and Review Technique
1.9

Programme Education and Review Technique
2. %

Programme Evaluation and Review Teaching
3. %

Programme Education and Review Teaching
4. %

Question Number : 102 Question Id : 5494703696 Display Question Number : Yes Is Question
Mandatory : No

. Choose the appropriate answer:
When the performance of two companies combined is greater than the sum of that shown

by the individual companies. it is called

Options:

unity
1. # E



5> % coaction

3 % alliance

SYnergy
4. &

Question Number : 103 Question Id : 5494703697 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answen:
Azerty is a
Options :

kev board

autocad

contouring

interface

Question Number : 104 Question Id : 5494703698 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

“Mbps" stands for

Options :



Megabytes per second

Megaboots per second

Megabels per second

Megabits per second

Question Number : 105 Question Id : 5494703699 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:

A machine from which we can buy small things is called a/an machine

Options :

automatic

vending

lending
3. %

electronic

Question Number : 106 Question Id : 5494703700 Display Question Number : Yes Is Question
Mandatory : No



Fill in the blank by choosing the appropriate answer:
I find it hard to part the gifts my friends gave me for my birthday

Options :

away with

from

3 @ with

4 % off with

Question Number : 107 Question Id : 5494703701 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:
They didn’t go out last Sunday
Put a question tag.

Options :

1 % isn’t it?

won't they?
2. %

3 % will they?

did they?
4.



Question Number : 108 Question Id : 5494703702 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
His latest performance shows that Rahul has come of age as a musician. The
underlined idiom means

Options :

1 w failed

become masculine

arrogant

matured
4.

Question Number : 109 Question Id : 5494703703 Display Question Number : Yes Is Question
Mandatory : No

. Choose the appropriate answer:

Find the reported speech form of this sentence. “*He went to hospital yesterday” she
said.
Options :

She told that he had gone to hospital the previous day
1.9

5 % She told that he went to hospital the day before



She told that he went to hospital the day after

She told that he went to hospital the next day

Question Number : 110 Question Id : 5494703704 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

It wasn’'t the first journey they had to the U.S.

Options :

| % done

gone

travelled

made

Question Number : 111 Question Id : 5494703705 Display Question Number : Yes Is Question
Mandatory : No

Choose the appropriate answer:
Identify the correct sentence

Options:

In Darjeeling the sceneries are marvellous



In Darjeeling the scenery are marvellous

IN Darjeeling the seeneries is marvellous

In Darjeeling the seenery is marvelous
4.

Question Number : 112 Question Id : 5494703706 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Please the burning paper before it burns the table.

Options :

1 % Dputof

5 put out

- put off

put up

Question Number : 113 Question Id : 5494703707 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

The fire caused




Options :

lot of damages

lot of damage

lots of damages

a lot of damage

Question Number : 114 Question Id : 5494703708 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Don’t laugh poor people

Options :
1 % for

on

at

about

Question Number : 115 Question Id : 5494703709 Display Question Number : Yes Is Question
Mandatory : No



. Fill in the blank by choosing the appropriate answer:

Shilpa 1s keen continuing her music lessons

Options:

on
1. %

OvVer

Question Number : 116 Question Id : 5494703710 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

I have a knack writing.

Options :

1 % about

for

on

at



Question Number : 117 Question Id : 5494703711 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

She is a disgrace her family

Options :

1. ¢ 1o

at

with

Question Number : 118 Question Id : 5494703712 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Never deviate the path of truth

Options:

% ©

from

about



Question Number : 119 Question Id : 5494703713 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

the war food was rationad

Options :

~ For
’|_ W

With

During

Question Number : 120 Question Id : 5494703714 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blanks by choosing the appropriate answers:

Normally people judge us by our actions we judge ourselves

our thoughts,

Options :
whereas. by
while. on



for. over

whern. with

Question Number : 121 Question Id : 5494703715 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

My grandfather is always grumbling something or other

i
-

Options :

1 % with

Question Number : 122 Question Id : 5494703716 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blank by choosing the appropriate answer:

He will work hard lest

Options :

he gets fired
1.4



he has got fired

he should get fired

he would get fired

Question Number : 123 Question Id : 5494703717 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

It was high time we

Options:
1% returnad home

had returned home
2.

3 % return home

have returned home

Question Number : 124 Question Id : 5494703718 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank by choosing the appropriate answer:

Don't allow yourself to be enticed evil habits by wicked people



Options :

Question Number : 125 Question Id : 5494703719 Display Question Number : Yes Is Question
Mandatory : No

. Fill in the blank by choosing the appropriate answer:

Don’t hanker over wealth and position

Options :

1.« after

for

from

Question Id : 5494703720 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (126 to 130)



Read the passage below and choose the correct answer 126-130

The rival claims of intellect and the body often arouse lively controversy. Some contend
that physical force carries all before it, whereas others hold that final victory rests, with the
intellectuals. In other words, who is more powerful — a writer or a soldier? Physically. of course,
the soldier wields more power. But the might of the sword is superficial and temporary. It may
subdue the flesh but it can't touch the spirits. the soul of man. The writer. the man of ideas, the
philosopher — it is he who holds supreme sway over man's mind and heart. Ideas once bomn
never die; physical conquests are short lived. The empires which Napolean. Alexander. Timur
and Chengez Khan built for themselves have crumbled info dust but the empires of ideas which.
Socrates, Plato, Karl Marx, Shakespeare or Tulsidas created have successfully withstood the
ravages of times. What a poet, philosopher or the novelist places before the world is truth
embalmed for ages and every succeeding generation of humanity derives inspiration and
guidance from them. Hence, it i$ quite correct to hold that in the final analysis the writer wields
much greater power and influence than the warrior.

Sub questions

Question Number : 126 Question Id : 5494703721 Display Question Number : Yes Is Question
Mandatory : No

The main problem that has been discussed in the passage is:
Options :

The problem of victory.
1. %

5 % The problem of mind and heart.

The problem of empires.
3. %

The problem of physical force versus intellectuals.
4.

Question Number : 127 Question Id : 5494703722 Display Question Number : Yes Is Question



Mandatory : No
What can the might of the sword do?
Options:

1 % It can win over writers.

It may win the flesh but not the spirit.

It may give new ideas to man.
3. %

It may win the soul of man.

Question Number : 128 Question Id : 5494703723 Display Question Number : Yes Is Question
Mandatory : No

What happens to the ideas once they are born?
Options :

They make people perverted.
1. %

They are short lived.

They min the world.
3. %

They make great philosophers.
4.



Question Number : 129 Question Id : 5494703724 Display Question Number : Yes Is Question
Mandatory : No

Which empires do not die?
Options :

The empires of warriors.

The empires of writers.

The empires of Napolean and Alexander.

The empires of Timur and Chengiz Khan.

Question Number : 130 Question Id : 5494703725 Display Question Number : Yes Is Question
Mandatory : No

Truth embalmed for ages means?

Options :

Distorted.

5 Preserved.

Conquered.

4% Dilapidated.



Question Id : 5494703726 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (131 to 135)

Read the passage below and choose the correct answer 131-135

Thuift is the spirit of order applied to domestic management and organization. Ifs
objective is to manage frugally the resources of the family. to prevent waste and avoid useless
expenditure. Thrift is under the influence of reason and forethought. and never works by chance
or by fits. It endeavours to make the most and the best of everything. The words “waste not,
want not”, carved in stone over Sir Walter Scott’s kitchen-fire place at Abbotsford, express in
few words the secret of order in the midst of abundance. Order is most useful in the management
of everything — of a household. of a business. of a manufactory. of an army. Thrift s the spirit of
order in human life. It 15 the prime agent in private economy. It preserves the happiness of many
a hovsehold. And it 1s usually, women who regulates the order of the house-hold, it is mainly
upon her that the well-doing of the society depends. It is therefore all the more necessary that she
should be educated early in habit and virtue of orderliness.

Sub questions

Question Number : 131 Question Id : 5494703727 Display Question Number : Yes Is Question
Mandatory : No

What 1s being called the spirits of order?

Options:

Domestic mana gement.
1. %

Organization.
2. ®

3 ¢ Thrift.

Resources of the family.
4, ®



Question Number : 132 Question Id : 5494703728 Display Question Number : Yes Is Question
Mandatory : No

Thrift is under the influence of

Options:

1. ¢ Forethought.

5 % Chance.

Fits.

4 % Spirit.

Question Number : 133 Question Id : 5494703729 Display Question Number : Yes Is Question
Mandatory : No

“Waste not. Want not™ can be understood as
Options :
Don't waste food.

Don’t waste now. because you may need it fomorrow.
2. %

Waste nothing because you lack nothing.
3. %

Wasting is not wanting.



Question Number : 134 Question Id : 5494703730 Display Question Number : Yes Is Question
Mandatory : No

According to the passage. what 1s the most useful thing in the management of everything?

Options :

kitchen fire place.

women force.

order.

open space.

Question Number : 135 Question Id : 5494703731 Display Question Number : Yes Is Question
Mandatory : No

. In this paragraph. thrift is not stated as:

Options :

Spirit of order in domestic management.

Secret of order in the midst of abundance.

Prime agent in private economy.

Woman.

Question Id : 5494703732 Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No

Question Numbers : (136 to 140)

Read the passage below and choose the correct answer 136-140

First of all: what 1s work? Work is of two kinds: first, altering the position of matter at
or near the earth's surface relatively to other such matter: second, telling other people to do so.
The first kind 13 unpleasant and ill paid; the second 1s pleasant and highly paid. The second kind
is capable of indefinite extension: there are not only those who give orders. but those who give
advice as to what orders should be given. Usually two opposite kinds of advice are given
simultaneously by two organized bodies of men: this s called politics. The skill required for this
kind work s not knowledge of the subjects as to which advice is given, but knowledge of the art
of persuasive speaking and writing, 1.e.. of advertising,

From the beginning of civilization until the Industrial Revolution. a man could. as a
tule, produce by hard work little more than was required for the substance of himself and his
family. The small surplus above bare necessities was not left to those who produce it, but was
appropriated by warriors and priests. Much that we take for granted about the desirability of
work is derived from this system, and being pre-industrial, is not adapted to the modern world.
Modern technology has made it possible for leisure, within limits, to be not the prerogative of
small privileged classes. but a right evenly distributed throughout the community. The morality
of work 15 the morality of slaves, and the modern world has no need of slavery.

It is obvious that, in primitive communities, peasants. left to themselves, would not have
parted with the slender surplus upon which the warriors and priests subsisted. but would have
either produced less or consumed more. At first, sheer force compelled them to produce and part
with the surplus. Gradually, however. it was found possible to induce many of them to accept an
ethic according to which it was their duty to work hard, although part of their work went to
support others in idleness. The conception of duty. speaking historically, has been a means used
by the holders of power fo induce others to live for the inferests of their masters rather than for
their own. Of course. the holders of power conceal this fact from themselves by managing to
believe that their interests are identical with the large inferests of humanity, Sometimes this is
true; ancient Athenian slave-owners, for instance. employed part of their leisure in making a
permanent contribution to civilization which would have been impossible under a just economic
system. Leisure is essential to civilization. and in former times leisure for the few was only
rendered possible by the labours of the many. But those labours were valuable. not because work
is good. but because leisure 1s good. And with modem technology. it would be possible to
distribute leisure justly without injury to civilization.

Sub questions

Question Number : 136 Question Id : 5494703733 Display Question Number : Yes Is Question
Mandatory : No

. Why is the art of persuasive speaking and writing required for people who do second type

of work?



Options :

The people who do second type of work do work themselves.

1. %
The people who do second type of work remain as models for others.
2. #
People. who do the first type of work. do not know the value of work.
3. %

v To keep the first kind of people continue to work for the benefit of everybody.
4.

Question Number : 137 Question Id : 5494703734 Display Question Number : Yes Is Question
Mandatory : No

According to the passage, what is “politics™ as far as the people who are engaged in the
second kind of work?
Options :

Persuading the first kind of people to work for others.

1. %
5 % They give only type of advice.

v They give two opposite types of advice.
4w They themselves work hard.

Question Number : 138 Question Id : 5494703735 Display Question Number : Yes Is Question
Mandatory : No



What has modified in the existence of two kinds of people and work?

Options :

Introduction of new religion.
1. %

Change in the work ethics.
2. %

Industrialization and the consequent leisure for everybody.
3.v¥

4 % Revolt of slaves.

Question Number : 139 Question Id : 5494703736 Display Question Number : Yes Is Question
Mandatory : No

What is the meaning of the word. “prerogative™?

Options:

Privilege.
Opportunity.

2. ®

Drawback.

Disadvantage.

Question Number : 140 Question Id : 5494703737 Display Question Number : Yes Is Question
Mandatory : No



According to the passage what is essential to civilization?

Options :

1 % consumable goods.

indolence.

lethargy.

4 leisure.

Question Id : 5494703738 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (141 to 145)

Read the passage below and choose the correct answer 141-143

Political science and history are contributory and complementary. It does not however
mean that political science is a beggar at the door of history. Nor does it mean “History is past
politics or that politics 13 present history™. Political science is undoubtedly dependent on history
for its material. but it supplies only a part of the material. History i$ a chronological narration of
events including wars, revolutions. military campaigns, economic upheavals, religious and social
movements, and the rest. All this material is not required by political science. The main concern
of the political scientist is to study the evolution of the political institutions and the facts that
bear directly or indirectly on the state of the government, Political science. thus. selects facts out
of history. Furthermore, history deals with concrete and matter of fact things. It presents to us
not only facts, but the causal connection between the facts. Political science is speculative as
well. since it deals with what the state ought to be. Finally. the historian’s task is not to pass
moral judgements, but the political scientist is bound to do so. It is here that political science
joins hands with ethics and parts company with sociology history and economics.

Sub questions



Question Number : 141 Question Id : 5494703739 Display Question Number : Yes Is Question
Mandatory : No

According to the author of the passage. political science and history are

Options :
contradictory.
interrelated.

3 % unrelated.
hollow.

Question Number : 142 Question Id : 5494703740 Display Question Number : Yes Is Question
Mandatory : No

Political science differs from history by being

Options :

1 % imaginative,
fictitious.
speculative.

3.¢
mythological.

Question Number : 143 Question Id : 5494703741 Display Question Number : Yes Is Question



Mandatory : No
Unlike history. political science is concerned with
Options :

1 % sociology.

> % chronology.

ethics.

_ 2CcOonomics.
4. ®

Question Number : 144 Question Id : 5494703742 Display Question Number : Yes Is Question
Mandatory : No

The origin of political institutions is a subject of

Options:

history.

biology.

anthropology.

political science.

Question Number : 145 Question Id : 5494703743 Display Question Number : Yes Is Question
Mandatory : No



History is satisfied merely with

Options :

fiction.

speculation,
2. ®

ethics.

facts
4.

Mathematical Ability

Section Id : 54947054
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 55
Section Marks : 55

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 146 Question Id : 5494703744 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricdeh &hmgﬁm

If 2% =23 L 22% L 4 thenx =

+Ax . 53x

2x :
+277 +4e2008, o x =

Options:

1. #



, % 20
10

3. %

4.v !

Question Number : 147 Question Id : 5494703745 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eodricdeh ﬁvabgﬁaﬁu

If x=4f{p+1.theninterms of x, p=

X =4/ p+1 008, e3pyc X alng), DEawes” p =

Options :
X
1. %
v +1
2. %
3
3 ¢ : e |
x+1
4, ®

Question Number : 148 Question Id : 5494703746 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©ogidd bvmgém:

Three numbers are in the ratio 2 : 3 ; 5. If we add 30 to each of them. then the ratio
becomes 3 ; 4 : 6, Then, the middle number before adding 30 is
SOTE Doadfen 2t 31 5 .Ej‘fqbe_"__éef &%) 0. e HArdE 30 €08, T8 SN

3:4:6 enaod. BN, 30 D8 RPECEN e 065 Doay

Options :

30
1. %

60
2. #

90
3.¢

120
4, ®

Question Number : 149 Question Id : 5494703747 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosricdd &mg‘ssﬁm

Salaries of ‘A’ and ‘B’ are in the ratio 2 : 3. If the salary of one of them is
increased by Rs. 4000. then the salary of the other 15 decreased by Rs. 4000. then
the ratio becomes 5 : 7. Then, whose salary 1s decreased and what was his original

salary?

A SBoin B o dadoe .3.31139_3 2+ 3, obed 2€h B ar 4000 Dod), Bota T
2o ar 4000 @ﬂoéﬁﬁ. RO 88 DG 5 1 7 @00l )6, Db Bed0

Shoicol BoTy sl dadn 2el’ (Fue) Jos ?



Options :

‘A’ . Rs. 96.000

1. %

‘B’ . Rs. 1.40.000
2. %

‘A’ . Rs. 1.00.000
3. %

‘B’ . Rs. 1.44.000
4, &

Question Number : 150 Question Id : 5494703748 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evoSricdeh avmgam

i [2+1
If x= N,_ . then x+l_=

1 X

eo0Ed, X+ —=
-1 x



Question Number : 151 Question Id : 5494703749 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability esogricded avmgﬁ;&n
1 i |
If x=—_then ) =
X +1
3 N 1 -
S £9000E, eI 3 =
= X +1
Options :
2
5
1. #
kS
> 17
1
2
3, #
17
15
4. %

Question Number : 152 Question Id : 5494703750 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eogrcdeh bnmgam

The positive integer which exactly divides 72 —3%is

74 —32 = éﬁ)&@om 2P0t f 55 ?J-J_j“g“ﬂgo

Options :
1% 12

24
2. ®

10
3.¢¥

36
4, %

Question Number : 153 Question Id : 5494703751 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eosiedd ,anmgﬁm:
(. 1] |
The value of | 1+— 1+— |1+ |1 |18
L X ,-;I li“ 3 o B | 143 _,l
1 v 1 M
|1+ |1+ 1+ 1+ Desd Josd ?
) rv+1 /4 g X+3)
Options:
1
1+
1+ 4



X+4

2. %
r¥+4
3.v %
1
v
4, ®

Question Number : 154 Question Id : 5494703752 Display Question Number : Yes Is Question

Mandatory : No

Arithmetical Ability oS bvsﬁ:g'sm

The L.C.M. of the two numbers is 45 times their H.C.F. If one of the numbers is

125 and the sum of the H.C.F. and L.C M. 15 1150, then the other number is

Toc faoaje) ..., o8 d.aar. & 45 Bho. o Foc:a‘;@e_né& 2088 125 208050 e

(.r.aw., SR, © 2san 1150 wond, 2y & Dotiad Raoag

Options

275
1. %

260
2. ®

225
3.¢

215



Question Number : 155 Question Id : 5494703753 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosrdd .avmgﬁm

The H.C'F. of the numbers between 300 and 400 which when divided by 6. 9 and

12 leave the remainder 4 in each case, is

300 «000KN 400 o ey o Domjpan 6, 9, 12 © & wrhedd D9 Hoddyeei

4 3200 7, & B0 Doage 6.0 2.

Options :

24
1. %

18
2 ®

FZ
3. %

4
4.

Question Number : 156 Question Id : 5494703754 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evosricded bvmgﬁ;:m

The number of zeroes occurring at the end of the product 40 x 25 x 5 x 6 18

E‘_JEéJ&'lD 40 % 25 x § ¥ 6 0D Dﬁ;ﬁ “m;:}lf_:u Fonm;;



Options :

4
1. %
) ®

3
3_3-5

10
4. %

Question Number : 157 Question Id : 5494703755 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricdch bmgﬁm

Options :

Lh | k3

r_u|_;_-,_

s | =



Question Number : 158 Question Id : 5494703756 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eog i bmg‘sm
If x=15, y=+36, z= /16 and t =5 then
o | e x, fea -
X=15. y=+/36 . Z=+/16 20800 [ =5 @008, iNHy
Options :

}rc:jzc:j);-::it

1. %

Z<t<y<x
2. %

Tciﬁ};{:z«:}r
3. %

X }’{:-t £
4. %

Question Number : 159 Question Id : 5494703757 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosrncdd bmgﬁam

If “x*,”y" and ‘7’ are positive integers such that x%y = xyz = 180. then which one

of the following option is frue?

¥y = xvz = 180 SO ¥, ), I W) GIPTSES, & $0d pdyTed” I8
. : i . i

R ?



Options :

X<y=szZ
1. %

X:z::'}r
2.V

XLy<zZ
3. %

X>y=>z
4. ®

Question Number : 160 Question Id : 5494703758 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability oS3 .Ehmgﬁm;

Ify:z=1:8and x% of x% of 1% of y=z thenx=

v:z=1:8 208aiw X% of x% of 1% of y =z wond, e hr=

Options :
£
=3

1.% =
23

2. #®

3 % 200



200

Question Number : 161 Question Id : 5494703759 Display Question Number : Yes Is Question
Mandatory : No
Arithmetical Ability wosrid ,}omg’ssm

A bag contains one hundred coins of 50 paise. one hundred sixty coins of 25 paise
and "x’ coins of 10 paise with a total value of coins equal to Rs.120. Then, the

value of 'x" 18

208 Dooes’ Hoc 50 phe ey, APl e 25 PRY rden b v 10 phe

T ) o0, & TEAN Ao Dend 6@ 120 wondd X Dend

Options :
300
1.+
350
2. %
3 % 330
280
4, %

Question Number : 162 Question Id : 5494703760 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability e90SiEIeh P0G B0

25

‘P" has an article worth Rs. C and sold it to *Q’ for 12% profit. *Q" sold it to ‘R’

for 25% loss. If ‘R sold it to °S” for 10% profit, then ‘S’ bought that article for a

net percentage of discount equal to

‘T ar @ Dud 0 w8 S D P, 127 erdanasd Q & ar}::béafc:a. OO0 R 3&

25% :Jfﬂmmag_m @3}3&:\?@. R odd S 2 10% erdiansd @3)3@@. S 5 Hnvanan

By e Tobd DO ERF) 0] Teo

Options :

9.0%
1. %

8.2%
2. ®

7.6%
3.¢

6.8%
4, %

Question Number : 163 Question Id

Mandatory : No

: 5494703761 Display Question Number : Yes Is Question



Arithmetical Ability wosntdd énmgls;fm

A dishonest dealer marks up the price of his goods by 25% and offers 20%
discount to the customers. He also uses 900 gms weight for measuring 1kg.

weight. His percentage of profit due to these manoeuvre is

w8 dapond O TEFD G5 DML dg 660 257 & bed, 20% Aol X
EOTE. Lol woc 1 & Ardind Shainye 900 many B

APED T, D) oDy wedS D7 org Toaw

Options :
80
_{H)
9
1. %
1180_
Yo
5
2. #
100
%
9
3.¢
100
— %
7
4, %

Question Number : 164 Question Id : 5494703762 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wodied aumgﬁm:

‘A’ and ‘B’ started a business with their investments in the ratio of 14 : 15. If the
annual profit was distributed in the ratio 7 : 6 and the investment period of ‘A’ i3

for 10 months. then the period of ‘B’s investment (in months) is

A 2obain B oo 14 : 15 Jipd €D diowdd wé oo Poodomrm. T
RDodehTros ePPaNd 7 1 6 dipd ¢ Doy, A dwg) dtped S0 10

o wond, B dlng), dined seo (Peseses®)

Options :
6
1. %
2.%
8
3.¢
Y
4, ®

Question Number : 165 Question Id : 5494703763 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosriad bmgam

‘A’ and ‘B’ started a partnership firm investing amounts in the ratio 3 ; 5. After 6
months ‘C’ joined them with an investment equal to that of ‘B’. At the end of the

year if profit is Rs. 10,500, then ‘B’s share of profit (in Rs.) is

A &bosw B e ad diped Tauen 3 : 5 3ndE  wd ogardo Foodomrd.
6 Jve adars B & dardpd dad Tagd C o068 $BFrc. HodayTrodand

erao @ 10,500 e0nd, ey B alng), erddo tr (6r | © e5%)

Options :
- 4.000

4.600
2. %

5.000
3.¢

5.200
4, %

Question Number : 166 Question Id : 5494703764 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability oS &»mgsm

Pipe ‘A’ can fill a tank in 9 minutes and pipe ‘B’ can fill it in 12 minutes. Pipe ‘A’
started working and after ‘v’ minutes, pipe ‘B’ is released. If both of them together

filled the rest of the tank in 4 minutes, then x = (in minutes)

Foan A ¢ dg 9 ddawed’ar, Fpdw B @dd 12 ddoddwed’ar
moaeaod. ﬁ"%}aﬂ A addabco Em@m::nega‘n 1 Dpaawe ddard ﬁ%*a:m B &

B80T, FESD WADD ey o Do 8 4 Ddvdawed’ Dodd, X =

(DanHanee’)
Options :
4
1. %
3
2. #
;J
3.¢¥
1
4, %

Question Number : 167 Question Id : 5494703765 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosrad Ehmgé;ﬁ.n

Two pipes can fill a cistern in 14 hours and 16 hours. respectively. These pipes are
opened simultaneously and it is found that due it a leak in its bottom. it took 32
minutes more time for filling the cistern. Then the time (in hours) the leak alone

takes to empty the full cistern 1s

Dot ﬁ“%‘l&bm s {i"%ﬂ'}m DT 14 doben subotw 16 rdotiers® rowieayy. & Dot
a0 w5 Daoko &) BBD BT e S8 @b &) w8 Gogan SeGorT
85 ﬁeg AoctmdE 32 Adonaioew Jé}&a ;aggagm (e0DoErdd. a6 Dot &y &

F%0 & Goghann w88 arPBanadi suaw (fotreses’)

Options :
1 % 78
5 % 84
96
3. %
5
4V 112

Question Number : 168 Question Id : 5494703766 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability EREL L) Enafugﬁ;&.u

A train ‘X’ starts at a station “A” at 2.00 am. With a speed of 60 Km/hr. Another
train Y’ starts at the same station ‘A’ at 4.00 am with a speed of 80 Km/hr in the

same route, If both the trains meet at *S" K from station “A’, then ‘S’ =

w8 Dew wod X oty 60 £.20 Sriod Hnd A 5¢ 2.00 am 5 woHevdded.
emod Y fotadd 80 & Do Briod ed argand’ Had A ag 4.00 am &

ecendBod. & Dot Jrvwogy DD A od S &.50. ag £, S

Options :

440
1. %

420
2. %

460
3. %

480
4.v

Question Number : 169 Question Id : 5494703767 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eoﬁﬁsﬁéhmgﬁm

A journey of 600 km is completed by travelling 120 km by train and the rest by
car in § hours. The same distance if performed %’ Km by train and the rest by car.

takes 20 minutes more. If the ratio of speeds of train and the caris 3 : 4. then x =

600 & 0 drdo fo w8 Parmaw 120 & D Puowed oroe dnbaiy HhBD
SPoR) S T 8 foters’ L8 Bk, ©d dredy, X § 2 fawod AT
DD Groedy 576 rorar pairey 20 Adodawen J8y SiEotod. & e

eote auboin &9 5edy S 31\3@ 3 : 4 w008, W X =

Options :

200
1.4

215
2. %

240
3. %

280
4, %

Question Number : 170 Question Id : 5494703768 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability ©0S e 5"&"32555”

‘A’, ‘B’ and *C’ together can do a piece of work in 10 days. After they worked for
4 days. ‘A’ left the work and the remaining part of the work is completed by ‘B’
and ‘C” in 10 more days than the original schedule of completion. The time (in

days) needed for ‘A’ alone to complete the whole work is

A, B Bay C €93 ad 509 10 Hreet dobion. o 4 ey 5D 333
Biardd, A e 0ID S0 ;:nv;forw onfBS 20D B sobBodu C oew 2B Dode
QPEBaDAdAD Swo Cofi 10 Bwe JD GWED XY dvd. A wgE 8 DI

20ErR) P8 BODES BDVEH VA GEEN|

Options :
15
1. #
5 16
18
3. %
20
4, #

Question Number : 171 Question Id : 5494703769 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability wosiid anmga;m

"A" and ‘B’ can finish a piece of work in 15 and 20 days. respectively. With the
help of “‘C" if ‘A’ and ‘B’ can complete the same work in 5 days. then the number

of days that “C" alone can complete that work is

A 2¢ 02D 15 Beed'dr obon B @d 53 20 Bwodar Lrd Sondod.
C #fapo & A 20B0in B & 53D 5 Bwed® Hrg Sabrdhd, ey C agd o

e

22D 578 Souadh Beve foag

Options :

12
1.4

10
2. %

)
3. %

8
4. %

Question Number : 172 Question Id : 5494703770 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability 0Siedeh .&omgam;

The length of one of the parallel sides of a trapezium of area 480 m? is 20 meters.
If the distance between the parallel sides 15 15 meters. then the length of the other

parallel side (in meters) is

480 nﬁjbmg DT LA (10 s Dsneos) DM I8 Haread dhadave® ug

oD Feay 20 D, HATBE MAVL WG] PO 15 M wand, By

208 daresd ghaaw Fe (kg &)

Options :
- 24

36
2. %

44
3.¢

64
4, ®

Question Number : 173 Question Id : 5494703771 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability eosiad &mgé;m

If diagonal of a square i3 104/2 cm. then the length of the side (in cm) is

€ S00R0 dIng), HEGHw 1042 230|505 o0mas o9 szan oxog), Te)

Options :

1@ 10



N

Question Number : 174 Question Id : 5494703772 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosricd &vmgam

A spherical solid iron ball of diameter ‘R’ cms was melted and recast into n’
square pellets of side half its radivs and one unit thickness. The numerical ratio of

the radius of the iron ball to the number of pellets is

R 20|y arpoam 0DAD w8 20 mdd Hvandy €0hed, ag otrdE dodo B,
T3 JDPEE}D%}QD&S‘S Aio ghadnm (DAD 1 BAI6TE0 Baopeorr Fot Farapcd. 3 @D

£0e m&ﬂvgms;}. &3 B0} © VoL S| (ﬁloaﬁésﬁééa N

Options :

21 1352
1.4

3:41
2. %

21:176
3. %



Question Number : 175 Question Id : 5494703773 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability ©os s a»m%m

The base area and the height of a cone are 616 m* and 28 m. respectively. If the
height of a frustum of that cone is 14 m. the volume of that frustum (in cubic

meters) is nearly

w8 B0anay) BP0 PTVIHAL B0 JB0 SAH™ 616 © | D bot 28 Mexd. &
foaop OIg, W€ DyEaw I 14 Dt wond, e DI Eaw aBg),

202DBArRA (202 Doiag &°) Roaocrr

Options :
1 % 4964
2
) 5031
5142
3. %
5236
4, %

Question Number : 176 Question Id : 5494703774 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability evosricds bmgﬁ;ﬁn

The circumference of a circle having radius Scm 1s equal to

5 20| orfrgan e Hysan oo

Options :

607
1. %

407
2. ®

107
3.¢

20m
4, ®

Question Number : 177 Question Id : 5494703775 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability wosiedd bvmgﬁm:

The sum of the length. breadth and height of a cuboid 1s 13 cm and its diagonal 18

543 cm. If its surface is to be painted at the rate of Rs, 2.50 per cm?, the cost of

painting (in Rs.) is

wé B0 Doddw diog), T, Deeoy batn I © Awaaw 13 bo | B daio
@) DEgaw 503 20 |5 9 esBseansg dorh HoHTOE & o |8 A dr

2.50 2y edhy DN (6 | & e5®)



Options :

215
1. %

235
2. ¢

250
3. %

285
4, %

Question Number : 178 Question Id : 5494703776 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability 08 a»mgﬁm

A rectangular tank of 29 meters deep is full of water. If 1000 cubic meters of
water is drawn out from the tank. the level of water in the tank is diminished by 2

meters. Then. the volume of the tank (in cubic meters) is

29 00 &' o 28 O SBoPEE FO BT Doderd od. oD o 1000 W
Dty DB b &Y & F S 8 pawn 2 Ded shaved. By B F9

202 DR (1) ey &)

Options :
15.400
1. %
14,500

2. ¥



13.600

12.800

Question Number : 179 Question Id : 5494703777 Display Question Number : Yes Is Question
Mandatory : No

Arithmetical Ability evogricddd &vmg’sm

The remainder obtained when 5°-5 is divided by 11 is

575 20 11 & wrfoddiny Dy FaHw

Options :

0
1. %

5
2. %

4
3. %

10
4.

Question Number : 180 Question Id : 5494703778 Display Question Number : Yes Is Question
Mandatory : No



Arithmetical Ability eogricded o g0

The value of 0.007+0.7+17.83+310.02=

0.007+0.7+17.83+310.02 cdwg), Jend

Options :

338.057
1. %

345.644
2. %

328.507
3. %

328.557
4.¢

Question Number : 181 Question Id : 5494703779 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dot 208ai0 ﬁ‘é&}ém&mgﬁﬂ

Consider the statement:
P : If the broadband network is dowm. then the internet is not accessible

The contra positive of the statement ‘P’ is

$of DDA DBEdotiod
P:eré erjol apodw 29 Sobeda, i)y wotd D5 oo eotim
& Pavdo P dog), p8s8aa0

Options :

1. %



If the broadband network is down. then the internet is accessible

& erjol are@n DI DoLET B, wotsd D5 %"P_Jé;":léo Eotod

If the internet is accessible. then the broadband network is not down

oty D5 @P_}E_j}go €0, B eré el erean HI Sokudo
2.

If the broadband network is not down. then the intermnet is accessible

eré ejol o DO B, 006 DS %"e.:&;ﬁgn eotanody
3. %

If the broadband network is down. then the internet is not accessible

erE erjol Ao DA Sonsdd, @b e vdio eocdd
4. %

Question Number : 182 Question Id : 5494703780 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dfod 28ain e&‘sﬁ:éoﬁa&mgﬁé

The domain of the function f(x)= lug{(x —5)(x- 2)} is
Sdoonan f(x) :lng{{x— S)(x— 2)_} a3ng), BB

Options :

Fi sy s s
t"| XX o .1:;5}

§X | ¥z et X 25}



) { . i i
R-ix »5and x <2

R+~ % =5 Hbogs ©e2 )

2. %

Pt & ot
3. %

R-{2 <x <5}
4.9

Question Number : 183 Question Id : 5494703781 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Do 208030 wamémaomgﬁa

The straight line ycos135° +y sinl135 =5.if expressed in the slope-intercept
form, is

0¥ 3o 1008135 + 3 sin135° =5 &0 aren eoacmoto drod H(g0%

Options :

1. %
—
X=—V+542
2. %
=X +54/2
3.¢

4. %



y=5v2x+1

Question Number : 184 Question Id : 5494703782 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Do 20803 zﬁ‘g&sémﬂvmgﬁa

(cos(720)° « tan(945)° ) — (sin(—840)° » sec(1020)°) =

Options :
1+f~.j€
1.4
l—*v.,."lg
2. #®
x-"E
3, #
/3
14—
4
4. #

Question Number : 185 Question Id : 5494703783 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability D&ah 208ain wﬁmém&mgga

If pxl +qx+r11s exactly divisible by 1> —3x+2and leaves remainder 6 when

divided byx+1then p—q+2r=

p.‘f2 +gx+1 936 .1'2 -3x+243 Q-ﬁ;\l@{:rﬁ arfonnd ook ¥ +138 arhoddnd

6 B0 @), w@ P +2r=

Options :
1. % 9
2, ® 5
6
3. %
a.v °

Question Number : 186 Question Id : 5494703784 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Do 2805w H‘émvﬁm&mgﬁa

The tens digit of a three digit number is 2. If the digits at the units and hundreds
places are inferchanged. then the number thus formed is 396 less than the previous
one. If the product of the unif digit and hundreds digit is 32. then the sum of the

digits of that number i3

B0mE) 8080 Roag ARV, DL D0 S o8 2. D wel Fdo MBA Docw
TR0 eoBom erhardd 39 ddy dowy, wAICLS (Ack) Doy ot 396
S50, gl FHaN WO Hodw FIAWSTD BoSv LR 32 wond, & Doy

GI08), #9050 DG

Options :

18
1. #

16
2. %

15
3. %

14
4.+

Question Number : 187 Question Id : 5494703785 Display Question Number : Yes Is Question
Mandatory : No



Algebraic and Geometrical Ability Dda® 28050 H‘Smém&mgﬁa

The eleventh term from the last (end) of the arithmetic progression 10,7 .4 . ...,
-62 18

908 3¢ 10,7 . 4. ... -62 dlng), 256 (awfoap)ved 11 & Do

Question Number : 188 Question Id : 5494703786 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability d&abH H08akw ﬁ‘sﬁs&oﬁbvmgﬁa

A person purchased an equipment for Rs. 3200. Its price after 40 years came down

to Rs.640. Assuming a constant annual depreciation. its price after 30 years (in

Rs.) 18

ws 9j§ ws DOSTDY dr 3200 § Eary . 40 Hodsdydane Sora ) &3 dr 640
g DATonod. Fondybe adiee Do Goso, 30 JoIBGAVY BOTE

D) 66 (ar. o &)

Options :



1.¢

1320
2. %

1380
3. ®

1460
4. %

Question Number : 189 Question Id : 5494703787 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability Dot 2805w aﬁ‘aﬁ:éoﬁ}&mgﬁé

2 1 1 o].. _
If A+B= 5 | and 3B-44=| _ N then 49(4B)* =
[2 1] [1 6] _
A+B= ‘ SoBoiwndB-44= | 1‘ esondd 49(AB) =
Options:
e =0
16 13
1. %
136 —69
| 8 _2 |
2.9



Question Number : 190 Question Id : 5494703788 Display Question Number : Yes Is Question
Mandatory : No

Algebraic and Geometrical Ability D&ash 20805 w;b:@oﬁ:bmgaé

In a A ABC. if a , b , ¢ are the lengths of the sides. and if

a* +b* + ¢t =ab+be +ca. then that triangle is
A ABC & sures zhoerw Fepeona, b, ¢ abow a®+b2+c” =ab+be+ca
es0Ed, e:a:g_}bc:;n es iz

Options :

Equilateral

A ETRTRO £32E00

Isosceles

R P &}Baﬁmj £323083a300

Right angled

woetrs Gabaan
3. %



Scalene

SJaEDET TR £3810Ea000

Question Number : 191 Question Id : 5494703789 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability &a@ga ihmgﬁa

The geometric mean of the series 2, 2%, 27, ...... 1 terms is
32,2320 ... nHoHaven Gh0E), MDEEVG00
Options:
3?.1—1
1. %
il
2. ¥
2:':.-'2
3. %
~2H
4. ®

Question Number : 192 Question Id : 5494703790 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability &a%s Ehmgaa

The median of the following frequency distribution:

ClL ‘ 10-20 ‘ 20-30 \ 30-40 ‘ 40-50 \ 50-60
£l 8 | B | w0 | 7T | 12

13

& 308 Fr: DY Daradan Gug) WEjIGan

BOAA 90500 ‘ 10-20 ‘ 20-30 ‘ 30-40 ‘ 40-50 | s0-60
gjna:f@%ow‘ 8 ‘ 13 ‘ 10 ‘ 7 ‘ 12
Options :
38
1. %
36.5
2. %
i
- 35.6
34
4. &

Question Number : 193 Question Id : 5494703791 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability avoqa,gs an;:ugsa

56
For a frequency distribution, the modal class is 16-20 and the mode is —. If the

frequencies above and below the modal class are 16 and 24 respectively. then the
maximum frequency of that distribution 1s

56
g FIuP) DEPBIANIL LFTUVEID Bod 16 — 20 Boy EmTETEan —.
. |

EFIPOVELD B06S & pd dbain Sod od Trdupdjanen v 16 b 24

2000, eIy () &9 TP DA Derade dhwg), (A8 TP 20§

Options :

24
1. %

30
2. ®

32
3.¢¥

40
4, %

Question Number : 194 Question Id : 5494703792 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability eﬁvosp,sﬁ >0, &

35
If the standard deviation of 7. x2...... x» 18 3. then the standard deviation of
3xi+T, 3t T...... 3 HT 18
Xis X s Ny olugb a0 JSedanr 3 wond, 3x; +7, Ix+T, L 3%, T ojmsb a1
TR 00
Options :
3
1. %
6
2. %
0
3. ¢
16
4, %

Question Number : 195 Question Id : 5494703793 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3@::9.3:755 ﬁvmgsé

A data contains entries 1. 2. 3. 4. 5 with frequencies 5. 4. 3. 2. 1 respectively.

Then the variance of the data, corrected to two decimal places. is

ws Ggroaw 1, 2, 3, 4, 5 wotdnwd SN 5, 4, 3, 2, 1 % pddned $9A

€0, & OTroTan Clwsg) JYde Joty GFPetnws) Dbt

Options :



1.56

1.¢

23.56
2. %

43.56
3. %

71.56
4. %

Question Number : 196 Question Id : 5494703794 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability ﬁvospés av:.:ugﬁa
The correlation coefficient of the following distribution 18

.1';‘]‘3‘5‘? 9‘11
;-;-|1‘4‘6|3 10‘13

& 08 DaraHan i:ﬁ_‘ué?g e Doeod ngan

x;‘l|3‘5|?‘9|11
v | 2 | 4 | 6 [ 8 [ 10 |12
Options :
-1.1
1. &
=¥
2. %
1

3.¥



ix 09

Question Number : 197 Question Id : 5494703795 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3@0;:55 E)vmgéa

An examination question paper contains 5 questions. The probability that a

student attempts at least 3 questions is

we DB P DB0 & 5 PR e G om. wE DB S 3 DI UD DITTIIW

PObERE (e }bom;}?gej

Options :
3
5
1. %
3
4
2. %
|
2
3.¢
3,
16



Question Number : 198 Question Id : 5494703796 Display Question Number : Yes Is Question
Mandatory : No

Statistical Ability 3@0:;1755 .avmgﬁa

Two fair dice are rolled until each of them shows equal numbers on their faces.

The probability that this event occurs in the fourth trail 1s

B0ty Dar2E Fded, T8 Ao amama}]@_m Gra o0 Sfomrd. &

2083 PeDiid f@ﬁj}eﬁ:LmJES'B w0 Rozrage

Options:
25
216
1. %
125
216
2. %
216
3. %
125
1296
4.

Question Number : 199 Question Id : 5494703797 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability 31;:@755 év;fug‘sa

There are 9 pairs of white socks and 9 pairs of black socks in a bag. If three are
picked up from the bag at random. then the probability of getting a pair of socks of

same colour 1s

wg Ho0d’ 9 ade 3ud Fhven B0 9 Bdw IO 3"9359_1} &) 0. & 300)

2008 3 Fyer 2 aireyDyGore 87, w8 Gorrie we @ e Tockie Hogrdys
L

Options :
18C
1. %
9C, x9Cy
18C;
2. %
1
3.¢

2% 9{?2 " QCI
18C;

4. %

Question Number : 200 Question Id : 5494703798 Display Question Number : Yes Is Question
Mandatory : No



Statistical Ability 3‘53:.1755 svmgﬁa

A four digit number 1s formed using the digits 1. 3. 5. 7 and 9 af random without

repetition. The probability that the number thus formed is divisible by 5 is

3,5, 7 20boin 9 woZemy a)ITayd G irdySorr &Odirhon) s b

#9080 ©08j0 D-:j:j&mm. & Detorr E}GDE»J}:J foa)y 5 B ePfodnd doardye

Options :
L
5
1.4
3
5
2. %
s
5
3. %
2
3



